RESTESERIES
SEVENTEEN




TS17/1

* One of the occupational health hazards commonly faced
by the workers of ceramic , pottery and glass industry is

A) stone formation in gall bladder
B) melanoma
C) silicosis

D) stone formation in kidney




TS17/2

* Consider the following statements about the Ahmedabad
Mill Strike of 1918:
1. It was related to a dispute between the workers and the
European mill owners regarding hours of work
2. Gandhiji advised the workers to go on strike.

Which of the statements given above is/are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) Neither 1 nor 2




TS17/3

* The main constituents of pearl are:

A) Calcium carbonate and magnesium carbonate

B) aragonite and conchiolin
C) ammonium sulphate and sodium carbonate

D) calcium oxide and ammonium chloride




TS17/4

* Which one of the following polymers is widely used for
making bullet proof material ?

A) Polyvinyl chloride

B) Polyamides

C) Polyethylene

D) Polycarbonates




TS17/5

* Which one of the following ports of India handles the
highest tonnage of import cargo?

A) Kolkata
B) Kandla

C) Mumbai

D) Vishakhapatnam




TS17/6

* Which one of the following is NOT a feature of the
Government of India Act of 19357

A) Diarchy at the Centre as well as the Provinces

B) A bicameral Legislature

C) Provincial autonomy

D) An All-India Federation




TS17/7

* Which reference to Lok Adalats, which of the following
statements is correct?

A) Lok Adalats have the jurisdiction to settle the matters
at pre-litigative stage and not those matters pending
before any court

B) Lok Adalats can deal with matters which are civil and
not criminal in nature

C) Every Lok Adalat consists of either serving or retired
judicial officers only and not any other person

D) None of the above statements is correct




TS17/8

* Who among the following was the President of All-India
States People’s Conference in 19397

A) Jaya Prakash Narayan

B) Jawahar Lal Nehru
C) Sheikh Abdullah

D) Sardar Vallabhbhai Patel




TS17/9

* Lombok strait is one of the important sea trade routes in
the world. It is located between ?

A) Islands of Bali and Mainland Indonesia

B) Jawa islands and Sumatra islands

C) Malay Peninsula and Indonesian islands of Sumatra

D) none of the above




TS17/10

* Which one among the following statements about United
Nations organ is correct:?

A) Decisions of the General Assembly are binding on all
members

B) The term of the non-permanent members of the

Security Council is for three years

C) International Court of Justice has 20 Judges elected for
a period of 5 years

D) The Trusteeship Council has been suspended since 1
November 1994




TS17/11

* Which one among the following statements about South
Asia is NOT correct?

A) All the countries in South Asia are currently
democracies

B) SAFTA was signed at 12" SAARC Sunnit in Islamabad

C) The US and China play an influential role in the
politics of some South Asian States

D) Bangladesh and India have agreements and boundary
disputes




TS17/12

* Consider the following statements:

1. Biodiversity hotspots are located only in tropical
regions

2. India has 4 Biodiversity hotspots i.e. Eastern
Himalayas, Western Himalayas, Western Ghats and

Andaman and Nicobar Islands

Which of the statements given above is/are correct?

A) 10nly B) 2 only
C) Both1and 2 D) neither 1 nor 2




TS17/13

 Match List I with List II and select the correct answer
using the codes given below

List I List I1
a) Gonads 1. Insulin
b) Pituitary 2.Progestron
c) Pancreas 3. Growth hormone
d) Adrenal 4. Cortisone

Codes:
A)
B)
C)
D)




TS17/14

* Which one among the following is the distinguishing
factor between a pressure group and a political party?

A) Pressure groups are confined to a few, while political
parties involve larger number of people

B) Pressure groups do not seek active political power

political parties do

C) Pressure groups do not politically motivate people
while political parties do

D) Political parties take political stance, while pressure
groups do not bother about political issues.




TS17/15

* The name of the periodical among the following
published by Mahatma Gandhi during his stay in South
Africa:

A). Navjiwan
B). India Gazette

C) Afrikaner

D) Indian Opinion




TS17/16

* Consider the following statements

1. The boundaries of a National Park are defined by
legislation

2. A Biosphere reserve is declared to conserve a few
specific species of flora and fauna

3. In a Wildlife Sanctuary limited biotic interference is
permitted

Which of the statements given above is/are correct?
A) 10nly

B) 2 and 3 only

C) 1and 3 only

D) 1,2,and 3




TS17/17

* Which one among the following has the largest shipyard
in India?

A) Kolkata
B) Kochi

C) Mumbai

D) Vishakhapatnam




TS17/18

* Great Barrier Reef in Australia’s eastern coast is
experiencing an unprecedented second straight year of
mass coral bleaching. Which of the following reasons
causes mass coral bleaching?

1. increased sea water temperature
2. Increase salinity of sea water

3. Pollution of seas and oceans

Choose the correct code from the options given below:

A)1and 2 only B) 1and 3 only
C) 3 only D) All the above




TS17/19

* Why is the Government of India disinvesting its equity in
the Central Public Sector Enterprises?
1. The Government intends to use the revenue earned
from the disinvestment mainly to pay back the external
debt
2. The Government no longer intends to retain the
management controls of CPSEs

A) 10nly

B) 2 only

C) Both1and 2
D) Neither 1 nor 2




TS17/20

* Consider the following statements:

A) Most magmas are a combination of liquid, solid and
gas

B) Water vapour and carbon dioxide are the principal
gases dissolved in a magma

C) Basaltic magma is hotter the silicic magma

D) The magma solidified between sedimentary rocks in
horizontal position is known as dike

Which of these statements are correct
A)1,2and 3

B) 2,3and 4

C)1and 4

D) 1,2and 4




TS17/21

* Bonded labour System (Abolition) Act was enacted in
India in:

A) 1971

B) 1975

C) 1979

D) 1981




TS17/22

* Consider the following:
1. Bluetooth device
2. Cordless phone
3. Microwave oven
4. Wi-Fi device

Which of the above can operate between 2.4 and 2.5 GHz
range of radio frequency band?

A)1and 2 only
B) 3 and 4 only
C) 1,2 and 4 only
D) 1,2,3,and 4




TS17/23

* Consider the following statements:
1. Inflation benefits lenders
2. Real interest rate will always be lower than the nominal
interest rate in the present state of the Indian economy.

Which of these is/are true?

A) 10only

B) 2 only
C) Both1and 2

D) neither 1 nor 2




TS17/24

* Consider the following statements relating to estimation of
National Income

1. Foreigners working in India Embassies are normal residents
of India

2. Foreigners working in the office of WHO, World Bank etc.

located in India are not normal residents of India

3. Indians working in foreign embassies in India are not
normal residents of India

Which of the statements given above are correct?
A) 1only B) 1and 2
C) 3 only D) 1,2and 3




TS17/25

* Tea best grows in Assam. Darjeeling and Jalpaiguri
districts of West Bengal. What is/are the uniqueness of
this region which suits this crop?

1. It has warm and humid climate

2. Showers are mainly concentrated in 4-5 months (June
to October) in any year

3. Deep, fertile and well drained soil

4. Rugged topography of the relief near the Himalayan
foot hills

Choose the correct answer using the code:
A) 1,2,3 only
B) 1,3 only

C) 1,3,4 only
D) All the above




TS17/26

* Consider the following statements:

Coke is one of the materials of the charge added to blast
furnace for the production of steel/iron. Its function is to:
1. act as the reducing agent

2. remove silica associated with the iron ore

3. function as fuel to supply heat

4. act as an oxidizing agent

Which of the above statements are correct?

A)1and 2
B) 2 and 4
C)iand 3
D) 3and 4




TS17/27

* Which one of the following Schedules of the Constitution
of India contains provisions regarding anti-defection Act?

A) Second Schedule
B) Fifth Schedule
C) Eight Schedule

D) Tenth Schedule




TS17/28

* According to Meadows (1972) if the present trends in
world population, industrialization, pollution, food
production and resources depletion continue unchanged,

the ‘Limits of Growth’ on our planet will be reached in the
next:

A) 50 years

B) 100 years
C) 150 years
D) 200 years




TS17/29

* Which one of the following dynasties was ruling over
North India at the time of Alexander’s invasion?

A) Nanda

B) Maurya

C) Sunga

D) Kanva




TS17/30

* Which of the following organizations are involved in
collection, calculation and dissemination of data about
Consumer Price Index
1. Central Statistics Officer
2. National Sample Survey Officer
3. Department of policy Implementation
4. Labour Bureau

Select the correct answer using the code given below

A) 1and 2 only
B) 3 and 4 only
C) 1,2 and 4 only
D) 1,2,3and 4




TS17/31

» Match List [ with List II and select answer using the codes
given below the lists:

List | List II

a) Smallest Planet of the solar system. 1. Mercury

b) Largest Planet of the solar system. 2. Venus

c) Planet second from the Sun in 3. Jupiter
the solar system

d) Planet nearest to the Sun 4. Mercury
5. Saturn

Code:
A)
B)
C)
D)




TS17/32

* Ticks and mites are actually:

A) Arachnids
B) Crustaceans
C) Insects

D) Myriapods




T517/33

* Consider the following statements:
The price of any currency in International market is

decided by the

1. World Bank

2. demand for goods/services provided by the country
concerned

3. stability of the government of the concerned country

4. economic potential of the country in question
Which of these statements are correct?

A)1,2,3and 4
B) 2and 3
C) 3and 4
D)1and 4




TS17/34

* Which one of the following soil types of India is restored
infertile by presence of excess iron?

A) Desert sand
B( Alluvial
C) Podzolic

D) lateritic




TS17/35

 The Constitution of India was completed by

A) January 26, 1950
B) November 26, 1950
C) February 11, 1948

D) None of these




TS17/36

* Which of the following has banned floor crossing by the
members elected on a party ticket to the legislature?

A) 52" Amendment
B) Peoples Security Act

C) National Security Act

D) Maintenance of Internal Security Act




T517/37

* With reference to the Non Financial Companies in India,
consider the following statements:
1. They cannot engage in the axquisition of securities
issued by the government
2. They cannot accept demand deposits like saving
account

Which of the statements given above is/are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) neither 1 nor 2




TS17/38

* Which one of the following is not correctly matched?

A) Isobar. ::: atmospheric pressure
B) Isohyet ::: rainfall
C) Isoheline.  :: snow fall

D) Isobath. ::: depth




TS17/39

 Match List I and List II and select the correct answer
using the codes given below the lists:

List I List II

a) Theory of Mutation 1. Beadk and Tatum

b) Theory of Evolution 2. Jacob and Monod

c) One gene one enzyme 3. Darwin
Hypothesis

d) Operon concept 4. De Vires

Code: b
A) 4
B) 3
C) 3
D) 4




TS17/40

* Consider the following statements
1. Demographic transition theory can be used to describe
and predict the future of any area

2. The first stage of the Demographic transition theory
has high fertility and high mortality because people
reproduce more to compensate for the deaths due to
epidemics and variable food supply.

Which of the above statements is/are correct?

A) 10nly
B) 2 only
C) Both

D) None




TS17/41

* Who among the following is appointed by the President?

A) Attorney General of India

B) Comptroller and Auditor General of India

C) Governor of State

D) All the above




TS17/42

* Consider the following statements about black soil of
India
1. Black soil becomes sticky when it is wet

2. Black soil contains adequate nitrogen as well as
phosphorus required for growth of plants

Which of the statements given above is are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) Neither 1 nor 2




TS17/43

* In Celsius and Fahrenheit thermometers, the two show
equal readings of temperature at :

A) -40 degree

B) Zero degree

C) 32 degree

D) 100 degree




TS17/44

* Volcanic eruptions do not occur in the
A) Baltic Sea
B) Black Sea

C) Caribbean Sea

D) Caspian Sea




TS17/45

* Which Article of the Constitution provides that it shall be
endeavor of every state to provide adequate facility for
instruction in the mother tongue at the Primary stage of
education?

A) Article 349
B) Article 350

C) Article 350A

D) Article 351




TS17/46

* Whom of the following did Gautam Buddha nominate for
the leadership of Buddhist Sangha after his death?

A) Ananda
B) Mahakasyapa
C) Upali

D) None of these




TS17/47

* The complete conversion of glucose in the presence of
oxygen into carbon dioxide and water release of energy is

called:

A) Aerobic respiration

B) Anaerobic respiration

C) Glycolysis

D) Hydrolysis




TS17/48

* Consider the following statements
1. Westerlies originate in the horse latitudes and move
towards the poles
2. Westerlies move from west to east
3. Westerlies are strong in the Northern Hemisphere and
weakest in the Southern Hemisphere

Which of the above is are correct?

A)1and 2 only
B) 2 and 3 only
C) 1and 3 only
D) All




T517/49

* The correct sequence of different layers of the atmosphere
from the surface of the Earth upwards is:

A) Troposphere, Stratosphere, lonosphere, Mesosphere

B) Stratosphere, troposphere, lonosphere, Mesosphere

C) Troposphere, Stratosphere, Mesosphere, lonosphere

D) Stratosphere, Troposphere, Mesosphere, lonosphere




TS17/50

* Sayana, the famous commentator of the Vedic texts,
flourished during the reign of:

A) The Chola kings

B) The Gupta kings

C) The Satvahana kings

D) The Vijayanagar kings




TS17/51

* Which of the following pairs are correctly matched?
1) Dow Jones. ::: New York
2) Hang Seng.  ::: Seoul

3) FTSE-100. ::: London

Select the correct answer using codes given below:

A)1,2and 3
B) 2and 3
C)1and 2
D)1and 3




TS17/52

* Recently, Missile Technology Control Regime (MTCR)
was in the news. Consider the following statements with
reference to it:

1. [t was formed by the G-7 countries
2. The activities of the MTCR are consistent with the UN’s
non proliferation and export control efforts

3. India is the latest member of MTCR

Choose the correct Code from below:
A) 1and 2 only

B) 1and 3 only

C) 2 and 3 only

D) 1,2 and 3




TS17/53

* Consider the following statements about the powers of the
President of India:
1. The President can direct that any matter on which decision
has been taken by a Minister should be placed before the
Council of Ministers
2. The President can call all information relating to proposals
for legislation

3. The President has the right to address and send messages
to either House of the Parliament

4. All decisions of the Council of Ministers relating to the
administration of the Union must be communicated to the
President.

Which of the statements given above are correct?

A)1,2and 3 B)1and 3
C)2and 4 D) 1,2,3and 4




T517/54

* The educated middle class in India:
A) opposed the revolt of 1857

B) supported the revolt of 1857

C) remained neutral to the revolt of 1857

D) fought against the native rulers




TS17/55

* A consumer is said to be in equilibrium if

A) he is able to fulfill his needs with a given level of
income

B) he is able to live in full comforts with a given level of
income

C) he can fulfill his needs without consumption of certain
items

D) he is able to locate new source of income




TS17/56

* Under the Constitution of India, Economic Planning is a
subject:

A) in the State List
B) in the Union List

C) in the Concurrent List

D) not specified in any list




T517/57

* The Indian Muslims, in genral were not attracted to the
Extremist movement because of the:

A). influence of Sir Sayyid Ahmed Khan

B). anti-Muslim attitude of Extremist leaders

C) indifference shown to Muslim aspirations

D) Extremists policy of harping on Hindu past




TS17/58

* Which of the following pairs are correctly matched?

1. Lothal.  :: Ancient dockyard

2. Sarnath  ::: First sermon of Buddha

3. Rajgir. ::: Lion capital of Ashoka

4. Nalanda. :: Greatseat of Buddhist Learning

Select the correct answer using the codes given below:

A)1,2.3and 4
B) 2 and 4
C)1,2and 4
D)1and 2




TS17/59

* The Indian parliamentary system is different from the
British parliamentary system in that India has:

A) both a real and a nominal executive

B) a system of collective responsibility

C) bicameral legislature

D) the system of judicial review




TS17/60

* When a plug is pulled out connected to an electrical
appliance, often there is a spark. To which property of the
appliance is this related?

A) Resistance

B) Inductance

C) Capacitance

D) Wattage




TS17/61

» Simon Commission of 1927 was boycotted because:

A) there was no Indian member in the Commission

B) it supported the Muslim League

C) Congress felt that the people of India are entitiled to
Swaraj

D) there were differences among the members




TS17/62

* With reference to the institution of Banking Ombudsman
in India, which one of the statements is NOT correct?

A). The Banking Ombudsman is appointed by the Reserve
Bank of India

B). The Banking Ombudsman can consider complaints

from Non-residents Indians having accounts in India

C). The orders passed by the Banking Ombudsman are
final and binding on the parties concerned

D. The service provided by the Banking Ombudsman is
free of any fee




TS17/63

* The concept of Welfare State is included in the
Constitution of India in the:

A) Directive Principles of State Policy

B) Fourth Schedule

C) Fundamental Rights

D) Preamble




TS17/64

* The supply-side economics lays greater emphasis on the
point of view of:

A) Producer

B) Global Economy

C) Consumers

D) Middle-man




TS17/65

» Estuaries posses of excessive growth of a pigmented
dinofagellates.

These blooms are called
A) red
B) sea tides

C) black tides

D) sea flowers




TS17/66

* Which one of the following is NOT a Fundamental Right?

A) Right to Equality
B) Right to Freedom
C) Right to Property

D) Right to Religion




TS17/67

* Which one of the following statements about TEHRI is
not correct?

A) Tehri estate joined Indian Republic in 1949

B) Tehri Dam Project was proposed in 1972

C) River Bhagirathi has been swallowed by the Tehri Dam

D) After the merger the territory was carved out as a
division




TS17/68

* Which one the following events was characterized by
Montague as ‘preventive Murder’?

A) Killing of INA activists

B) Massacre of Jallianwala Bagh

C) Shooting of the Mahatma

D) Shooting of Curzon




TS17/69

* Consider the following statements regarding the
Chakiarkoothu form of Dance:
1. It is performed by Chakiar caste
2. It can not be traditionally witnessed by the higher
castes Hindus
3. Mizhavu is the accompanying instrument
4. Its theatre form is called Koothambalam

Which of these statements are correct?

A)1,2and 4
B) 1,2 and 3
C) 2,3and 4
D) 1,2and 4




TS17/70

* Which one of the following types of micro-organisms is
most widely used in Industries?

A) Bacteria
B) Bacteria and Fungi

C) Bacteria and Algae

D) Bacteria, Microalgae and Fungi




TS17/71

* Which one of the following motions has contextual
relationship with the Union budget?

A) Censure motion
B) Call attention motion

C) Cut motion

D) Adjournment motion




TS17/72

» Sacrificial anode protects iron of ships, underground
pipelines etc. from rusting, a process known as cathodic
protection. Which one of the following metals cannot be
used as sacrificial anode?

A) Tin

B) Zinc

C) Magnesium

D) Aluminium




TS517/73

* Who was the leader of the Ghaddar Party?

A) Bhagat Singh
B) Lala Hardayal
C) Bal Gangadhar Tilak

D) V D Savarkar




T517/74

* Consider the following statements about Inclusive
Development Index and choose the correct answer from
the statements given below:

A) It is released by World Bank

B) It has three pillars Growth and Development, Inclusion

and Integrational Equality and Sustainability in order to
provide a more complete measure of economic
development than GDP growth rate alone

C) Both A and B

D) None of the above




T517/75

* The Indian National Congress agreed in 1947 to the
partition of the country mainly because:

A) the principle of two-Nation theory was then acceptable
to them

B) it was imposed by the British Government and the
Congress was helpless in this regard

C) they wanted to avoid large scale communal riots

D) India would have otherwise lost the opportunity to
attain freedom




TS17/76

* Which one among the following will be absorbed fastest
through the wall of digestive system?

A) Black coffee as a hot beverage

B) DDT taken as poison
C) Raw alcohol taken as a drink

D) Ice-cream as a desert




TS17/77

* For regulation of Insurance Trade in the country the
Government has formed, mandated

A) SEBI

B) RBI mandated

C) Insurance Regulatory and Development Authority

D) General Insurance Corporation under Ministry of
Finance




TS17/78

* Consider the following statements:

Ahadis were those troopers who:

1. offered their services singly

2. did not attach themselves to any chief

3. had the emperor as their immediate colonol
4. attached themselves to Mirzas

Which of these statements are correct?

A)1,3,and 4
B) 1,2 and 3
C)2and3
D)1and 4




TS17/79

* Which of the statements given below about the
Champaran Satyagraha is/are correct?

1. [t was related to Indigo plantations
2. It started because the European planters oppressed the

Zamindars

Select the correct answer using the code given below

A) 10nly

B) 2 only

C) Both1and 2
D) Neither 1 nor 2




TS17/80

* Consider the following statements about haemoglobin:

1.It contains iron

2. it imparts red colour to the blood

3. it provides immunity against certain disease
4. It is a carrier of oxygen in blood

Which of the statements given above are correct:

A)1,2and 3
B) 2,3and 4
C)1,2and 4
D) 1,2,3and 4




TS17/81

* Which one of the following is not correctly matched?

A) ginger. ::rhizome
B) saffron. ::: seeds
C) opium. ::: poppy of opium

D) flax. :: stem




TS17/82

* Recently ‘Catalonia’ was much in the news. Catalonia is
located in which country?

A) Italy

B) Greece

C) Spain

D) Portugal




TS17/83

» Match List [ with List II and select the correct answer using
the codes given below the lists:
List I List II
a) Boom 1. Business activity at high level with
increasing income, output and
employment macro level
b) Recession 2. Gradual fall in income, output and
employment with business activity
in a low gear
c) Depression 3. Unprecedented level of under employment,
and unemployment, drastic fall in
income, output and employment
d) Recovery 4. Steady rise in the general level of prices,
income output and employment

Code: a b C d a b C d
A) 1 2 3 4. B) 1 2 4 3
C) =2 1 4 3 D) 2 1 3 4

01/07/2021




TS17/84

* The Pakke tiger reserve is located in the state of :
A) Bihar
B) Odisha

C) Arunachal Pradesh

D) Rajasthan




TS17/85

 Match List I with List II and select the correct answer
using the codes given below the lists:

List I

a) 1556
b) 1600
c) 1686

d) 1739

Code:
A)
B)
C)
D)

List I1
1. Battle of Haldi Ghati
2. Nadir Shah’s capture of Delhi

3. Death of Shivaji

4. Grant of Charter of East India
Compan
5. Accession of Akbar




TS17/86

* Which one of the following statements is not correct
about the fertilizers industry of India:

A) It is one of the fastest growing industry of the country
in recent years

B) India is the third largest producer of nitrogenous

fertilizers in the world
C) India is self-sufficient in respect of chemical fertilizers
D) It is the second most important industry of the

country in terms of investment and value of
manufactured products




TS17/87

* At the time of India’s Independence. Mahatma Gandhi
was

A) A member of Congress Working Committee
B) Not a member of Congress

C) The President of the Congress

D) The General Secretary of the Congress




TS17/88

 The water pollution in river is measured by the dissolved
amount of:

A) Chlorine

B) Ozone

C) Nitrogen

D) Oxygen




TS17/89

» With mountain ranges in India, consider the following
statements
1. Aravali mountain ranges are one of the oldest fold
mountain systems in India

2. Tapi river originates in the Maikal range and drains
through rift of Vindhyan range bisecting Satpura range

3. Maikal range is actually an extension of Satpura range

Select the correct statements from the options given
below:

A)1and 2 only B) 1and 3 only
C) 2 and 3 only D) All of the above




TS17/90

* Consider the following
1. Tughaquabad Fort
2. Lodi Garden
3. Qutab Minar
4. Fathpur Sikri

The correct chronological order in which they were built

A) 3,1,4,2
B) 3,1,2,4
C) 1,3,2,4
D) 1,3,4,2




TS17/01

 Match List I with List II and select the correct answer
using the codes given below the lists:

List I List 11
a) Potassium Bromide 1. Fertilizer
b) Potassium Nitrate 2. Photography
c) Potassium sulphate 3. Bakery

d) Monopotassium tartarate 4. Gun powder

Code: b
A) 4
B) 4
C) 2
D) 2




TS17/92

* Who is the scientist in whose honour the ‘Chandra X-Ray
telescope has been named?

A) Chandrasekhar Venkat Raman

B) Jagdish Chandra Roy

C) Prafulla Chandra Roy

D) Subramanyan Chandrasekhar




TS17/93

* Within biological communities some species are
important in determining the ability of the large number
of other species to persist in the community. Such species
are called:

A) Keystone species

B) Allopatric species

C) Sympatric species

D) Threatened species




T517/94

* The Indian National Army came into existence in 1943 in

A) Japan
B) Burma
C) Singapore

D) Malaya




T517/95

* Which of the following pairs are correctly matched?

1. Theodore Back. . Mohammadan Anglo-
Oriental

2. [lbert Bill. :::  Ripon

3. Feroz Shah Mehta :::  Indian National Congress

4. Badruddin Tyabji. ::: College Aligarh Muslim
League

Select the correct answer using the codes given below:

A)1,2,3and 4
B) 2and 4
C).1,3and 4
D) 1,2 and 3




TS17/96

* The practice of military governorship was first introduced
in India by the

A) Greeks
B) Shakas

C) Parthians

D) Mughals




TS17/97

* [sotopes are atoms of an element whose:
A) atomic weight is same but atomic number is different

B) atomic weight is different but atomic number is same

C) atomic number and atomic weight is same

D) None of these




TS17/98

* Who among the following streamlined the Marathan
administration after Sambhaji?

A) Raja Ram
B) Balaji Viswanath
C) Ganga Bai

D) Nanaji Deshmukh




TS17/99

* Which one of the following regions of Asia is
experiencing the highest annual growth rate of
population?

A) South Asia
B) South-East Asia
C) Central Asia

D) West Asia




TS17/100

* Which one of the following inflation is based on the

prices of only those commodities whose prices are non-
volatile?

A) Headline Inflation
B) Core Inflation

C) Structural Inflation

D) Stable Inflation
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 Thank You




